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1. Find the adjacent angles in the given figure
n

et
kJ

(i) £3,45; 44,6 (i) £3,46; L4,L5 (i) £1,45;£2,46; L3 ,L7;.L4,.8

(iv) £1,42;£2,44;L4,L3;L3,L);/L5,L6;L6,48;L8,L7;L7,.L5 (v) £L3,L4,L.L5,L6

2. Find the vertically opposite angles in the given figure
n

(i) £3,45; 44,6 (i) £1,44;L2,L3;L5,48; 6,47 (iii) £L1,45;42,.L6;L3,.L7;,L4,.8

(iv) £1,242,L7,48 (v) £3,44,.L5, L6



3. Find the interior angles in the given figure
n

(i) £Y,44; L2, /L3; £L5,48; 6,47 (i) £1,48;L2,L7
(i) £1,42;4£2,L4;L4,/L3;/L3,L);L5,L6;L6,.L8;.L8,L7;L7,.L5 (iv) £L3,.46;L4,.L5

(v) 43,44, /45,.L6

4. Find the exterior angles in the given figure

(i) £1,45;42,46;L3,L7;L4,,L8 (i) £3,46; 4,5 (iii) £1,48;42,.L7

(iv) £1,44;£L2,L3;L5,48;4L6,L7 (v) £1,42,L.7,.8

5. Find the interior alternate angles in the given figure
n

(i) £3,45; 24,6 (i) £1,48;£2,L7 (iii) £1,44;L2,L3;L5,.48;.L6,L7

(iv) LY, L2;L2,L4;L4,L3;L3,L);L5,L6;L6,L8;L8,LT7;L7,L5 (v) L3,L6;L4,L5



6. Find the exterior alternate angles in the given figure

(i) £1,48; 242,47 (i) £Y,45;4L2,.46; £L3,L7; L4, .8 (iii) £1,42,47,.8

(iv) LY, L2;L2,L4;L4,L3;L3,L);L5,L6;L6,L8;L8,LT7;L7,L5 (v) L3,L6;L4,L5

7. Find the corresponding angles in the given figure
n

(i) £1,45;42,L6;L3,L7; L4, L8 (i) L1,L8;4L2,L7
(i) £1,42;42,L4;L4,L3;L3,LY;L5,L6;L6,48;L8,L7;L7,.L5 (iv) £L3,45; 44,6
(v) £3,144,.15, L6

8. Find the co-interior angles in the given figure

n

(i) £3,45; 44,6 (i) £1,45;42,.46;L3,L7;.L4,.8
(i) £1,42;42,L4;L4,L3;L3,L);L5,L6;L6,48;L8,L7;L7,L.L5

(iv) 41,44 ;£L2,L3;L5,48;L6,L7 (v) L3,46;L4,L.L5



9. Find the value of 'y’
n

33° 147°
147° 330 2

33° 147°

(i) 152° (ii) 147° (iii)) 157° (iv) 162° (v) 177°

10. In the given figure | | m. Find the value of 'w'
n

Sw

5w

y

(i) 18 (ii) 19 (iii) 21 (iv) 17 (v) 15

11. In the given figure | | m. Find the value of 'x'
n

7z2°

9x

(i) 11 (ii) 15 (i) 9 (iv) 12 (v) 13



12. In the given figure | | m. Find the value of 'w'
n

2w+ll

Sw+4 2

(i) 16 (ii) 14 (iii)) 18 (iv) 15 (v) 12

13. In the given figure | | m. Find the value of 'u'

n

H Su-5

J 10u-10

(i) 14 (ii) 12 (i) 10 (iv) 16 (v) 13

14. In the given figure | | m. Find the value of 'r'
n

5r+3

G 12r-10

(i) 14 (ii) 12 (i) 10 (iv) 11 (v) 8



15. In the given figure | | m. Find the value of 'p'

n
4]
510 750
-
N
<~ = m

(i) 69° (ii) 84° (iii) 59° (iv) 54° (v) 64°

16. In the given figurel | m. Find the value of 't'
4]

94° 39¢°

)

(i) 47° (i) 77° (iii) 57° (iv) 62° (v) 52°

17. In the given figure,| | mandn | oandp || q.Find the values of {b,c,d,e,f,g}
q p n o

A A

N

(i) 86°,58°,58°,86°,36°,36° (ii) 58°,36°,36°,86°,58°,86° (iii) 86°,36°,58°,36°,86°,58°

(iv) 36°,86°,36°,58°,86°,58° (v) 36°,58°,86°,36°,58°,86°



18. In the given figure, PQ | RS, £GDQ = 61° and DE = FD. Find the measure of x.

G
u’é
P = Q
//\
R = 5
E F

(i) x=56° (ii) x=60° (iii) x=57° (iv) x=59° (v) x=58°

19. In the given figure, EF | GH and EG = GI. Find the values of x,y and z.
E F

G H
(i) x=40°,y=70°,z=40° (ii) x=42°,y=70°,z=38° (iii) x=38°,y=72°,z=40° (iv) x=38°,y=70°,z=42°

(v) x=40°,y=68°,z=42°

20. In the following figure EF | HG, find the values of x and y.

(i) x=54°,y=78° (ii) x=52°,y=76° (iii) x=50°,y=74° (iv) x=51°,y=75° (v) x=53°,y=77°

21. In the given figure, it is given that FE | HG , LFHG = 69° and ZFED = 85°. Find the value of x.

H
69" F
85°
i X
G E D

(i) x=27° (ii) x=28° (iii) x=26° (iv) x=24° (v) x=25°




In the adjoining figure, side DE of parallelogram BCDE has been produced to F. If ZCDF = 136.61° , find the
" measure of each angle of the parallelogram.
E D
- -

36.61°

B C
(i) B=41.39°,C=138.61°,D=42.39°,E=137.61° (ii) B=45.39°,C=135.61°,D=41.39°,E=137.61°
(iii) B=43.39°,C=136.61°,D=43.39°,E=136.61° (iv) B=44.39°,C=135.61°,D=45.39°,E=134.61°

(v) B=42.39°,C=134.61°,D=44.39°,E=138.61°

In the adjoining figure, IJKLis a parallelogram andMNis such that MN || IK

If LILM = 33.95°and £ZKLN = 36.83°,find the measure of ZKLI.
N

23.

L 36.83° K

33.85°

| J
(i) 110.22° (ii) 108.22° (iii) 111.22° (iv) 109.22° (v) 107.22°

24. Which of the following are true for alternate angles?

a) Both are interior angles

b) One is interior angle and the other is exterior
c) They are not adjacent angles

d) They are in the same side of the transversal
e) They are on either side of the transversal

f) They are adjacent angles

(i) {a,ce} (ii) {d,a,c} (iii) {b,a} (iv) {fb,e} (v) {d,c}

25. Which of the following are true for corresponding angles?

a) They are not adjacent angles

b) They are on the same side of the transversal

c) One is interior angle and the other is exterior angle
d) They are on either side of the transversal

e) Both are interior angles

f) They are adjacent angles

(i) {e,ab} (i) {ab,c} (iii) {f.d,c} (iv) {d,a} (v) {eb}



26. Which of the following are true?

a) If two lines are parallel to the same line, then they are parallel to each other

b) If g|lh and h|i , then g]|i

c) If gLh and gli,then hli

d) If two lines are parallel to the same line, then they are perpendicular to each other
e) If gLh and hli,then gli

(i) {e,c,a} (ii) {d,b} (iii) {c,a} (iv) {a,b} (v) {d,b,a}

27. In the given figure,a,b,c,d, e, f arelinesin a plane. By looking at the figure, which of the following are true?

a) ald
b) alb
c) fis the transversal ofc&a
d)
)

e

ais the transversal ofc&e
eis the transversal ofc&d
f) dis the transversal ofa &b

a b
#

\

4

(i) {a,f,b} (i) {a,b} (i) {d,c} (iv) {b,cef} (v) {a,de}

28. Which of the following are true with respectto lines s,t,u,v where s|t,tLu,ulv?

(i) {eb,a} (ii) {c.d,a} (i) {b,a} (iv) {c.d} (v) {a,d}



29. Which of the given figures is correct?

1l IV
(i) © Gi) v (i) meoGiv) 1
30. Which of the given figures is wrong?
/
&
i@ M 5 5‘9
G _12_45
G
1240
-
&
g

(i) 1 (i) o) 1vo@v)



31. In which of the figures given bellow, | || m?

n n
] \ . -~ f
68° 103°
1220 g7
. \ =" m =
I
n n
/Z‘ﬁ? /@230
] S -~
65° B7°
=~ M =

(i) 1 (i) 1 @ii) v (iv)



32. In which of the figures given bellow, | } m(not parallel)?

n n
102°
-~ T o - Y
107°
< 7 >M =« T
107® 102®
1
n n
/ A
= " ”_J
124°
50°
"] = m =
5?/ /
1 v

(i) v i) meGii) no(iv) |



33. If I || m, which of the given figures is correct?

n

1220 /58° s 71°
< -
580 122° 71° 1190
o — 119° -
< >
o 710
58° 122 71°
I
n
123° 470 134° 66°
< -
(<]
A 123 66° | 1340
123° 470 134¢ 66°
47° - 660 5
470 66
I \Y

(i) 1 Gi)y ©oGii) m



Assignment Key

1) (iv) 2) (ii) 3) (v) 4) (v) 5) (v) 6) (i)
7) (i) 8) (i) 9) (ii) 10) (i) 11) (iv) 12) (iv)
13) (v) 14) (iv) 15) (iv) 16) (i) 17) (v) 18) (v)
19) (i) 20) (ii) 21) (iii) 22) (iii) 23) (iv) 24) (i)
25) (ii) 26) (iv) 27) (iv) 28) (v) 29) (iv) 30) (ii)
31) (iv) 32) (ii) 33) (ii)
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